
CRACK PITTS XL



1.

3.

5.

7.

2.

4.

6.

8.

Thin CA

4pcs 1,5x1000m

cut the thin groove, there is no gap in these places

shorten the carbon, it does not overlap

carefully press in all the carbons
 and use thin glue

Do the same on the both wings

cut the groove for the servo cabel



9. 10.

11. 12.

13. 14.

15. 16.

Medium CA

14g servo centered with the horn

Medium CA

M2x40

cut cut

4x
Medium CA

Medium CA



5pcs 3x0,5x1000

Put the carbon 
to upper and bottom part

17. 18.

19. 20.

21. 22.

23.

Medium CA

Thin CA

take care that all carbons are 
embedded in the fuselage

cut 4pcs

Medium CA

elevators are prepared for the next steps

4/3x330

24a.

use 5pcs 3x0,5x1000

14g servo



Medium CA

24b. 25.

26. 27.

28. 29.

30. 31.

Medium CA
be careful, the tube must rotate freely!

put the horn on the tube!
          NO GLUE!

Medium CA

Be careful, both elevators must be the same angle!

cut

glue it, part by part

all parts must be in the same line!



32. 33.

34. 35.

36. 37.

38. 39.

Medium CA

Medium CA

cut

Medium CA

glue it, in this position!

Medium CA

use a needle rasper to tune the holes

14g servo



40. 41.

42. 43.

44. 45.

46. 47.

Medium CA

Thin CA

cut

cut

Glue it with medium CA part by part!

Medium CA

cut the holes for the hinge

2pcs of plastic hinge



48. 49.

50. 51.

52. 53.

54. 55.

Medium CA

Medium CA

Thin CA

cut the holes for the hinge use Thin CA to glue the hinges

cut

M2x10

M2x5

Thin CA



Thin CA

56. 57.

58. 59.

60. 61.

62. 63.

Medium CA

Thin CA

1x400

screw on the bowden 1mm
 and secure the clip with a pin

secure the clip with a pin!

cut the carbon rod Thin CA
Medium CA

stick the horn in the vertical position!
elevator must be in 0 deg.
be careful, don´t stick the elevator!

1,8x1401,8 bowden



Thin CA

64. 65.

66. 67.

68. 69.

70. 71.

Medium CA

Medium CA

3x0,5x200

Medium CA Medium CA

195mm

1,5 1,5x200mm

155mm



72. 73.

74. 75.

76. 77.

78. 79.

use a rasper for minor adjustments put the landing gear in

drill  1,5mm

2,9x6,5

clip it

M3x16



80. 81.

82. 83.

84. 85.

86. 87.

L+R L+R

L+R L+R



We wish you many happy flying hours with the Crack Pitts XL. 

Your RC Factory team

85mm


